36 ) 3

37 (7 i B
9
g
=< F=s

$ oo &

Glass dgr
Glass door

BT
esel

RSP

IDQ 2 ..‘
0000=401

Del liste / Part list Jptul F 118

Jptul AS Tegni d
Fredrikstad Norway ’ aezg7r;|8n_ (r:cl;

Date
Jan o3




Pos.rno Cat.no

10081727
10081792
10146127
10146192
10146227
10146292
10146327
10146392
10146427
10146492
10146527
10146592
10119927
10119919
10346727
110346792
10033612
10 110073912
11 10146627
11 10146692
12 10146727
12 10146792
13 10146827

LOXN N & AWWNRN =

13 10146802

15 153400
1o 103
15

1677 101471277

16 110147192
17 10147227

17 10147292
18 1101'78'912
20 110108592
21 \1200’1'5"
N
23125960
23 121075
24 128827
25 1117805

Jotul F 118

Blue black enamel, cat.no. 320075, Black paint, cat.no. 320034

Benevneise

Ben

Ben

Bunnplate

Bunnplate
Frontstykke, underovn
Frontstykke, underovn
Bakstykke, underovn
‘Bakstykke, underovn

Sidestykke underovn

Sidestykke underovn
Trauramme
Trauramme

Dar

Dar

:Sektorventil
Sektorventil
Vareplate i dor
Brennplate-UL

_ |Bakstykke overovn

Ba kstykke overovn
Frontstykke overovn
Frontstykke overovn
Sidestykke overovn
Sidestykke overovn
Topplate m/pakning
Topplate m/pakning

Royktut
‘Reyktut
Roykhullsdeksel
Reykhullsdeksel
Hvelv

Klinke

| Darknott plastikk

Hake

Dubb, fornikiet

:Skjermplate, under
iSkrue sylinderhode

:Pakning for topplate i - N

Dubb, sortkrom.

Description
Leg

Leg
‘Bottom plate
Bottom plate

iFront plate, lower
;Front piate, lower
fBack plate, lower
|Back plate, lower
'Side plate, lower
‘Side plate, lower
Top frame

“Top frame

Door

‘Door .

Air control

{Air controf
Blanking plate for door
Burn plate-UL
Back plate, upper
Back plate, upper’
Front plate, upper
Front plate, upper
Side plate, side
Side plate, side
Top plate w/gasket
Top plate w/gasket
Gasket for top plate
Fiue outlet,

Fiue outlet
:Cover for flue outlet
.Cover for flue outlet
‘Baffle

‘Latch

iKnob, plastic

Door catch

 |Pin, nickel plated

Pin, black crom.

‘Heat shield, under
[Screw, cylinder head

BP

BBE

:BP )
iLD 375-@9,5x1657
:BBE

‘Bp

‘BBE

BP

for BBE
for BP

‘M6x30 Din 84, 5.crom

Deleliste Jotul F 118

17.01.03

lav2




Pos.no Cat.no
26 116960
27 116910
28 116994
29 117129
36 152781
36 151139
37 151714
37 151334
37 ‘320072
37 320073

39 10315592
40 10315492

41 10315392
a2 128101
43

44

45 117512
46 |116832
47 \

48 [128427

Jotul F 118

Blue black enamel, cat.no. 320075, Black paint, cat.no. 320034

Benevnelse

Skrue sylinderhode
Skrue , senkhode
Mutter

Skrue 6K m/flens

Frontstykke kompl. underovn
Frontstykke kompl. underovn
Der (tett der), kompl. u/knott
Der (tett der), kompl, u/knott

‘Glassdgr kompl.
Glassdar kompl.
Sleideventil for glassdar
Ventilholder for glassdar
Luftbrem for glassder
Glass

Pakning for glass
‘Pakning for ventitholder
:Skrue, panhode

iMutter

J;ngnlng for glass

;FJ?EI‘ for glassder

|

Description

‘Screw, cylinder head

Screw, countersunk

Nut

Screw, 6K w/flange

Front, compl. lower

Front, compl. lower

Door, compact , compl. w/o knob
Door, compact, compl. w/o knob
‘Glass door, compl.

Glass door, compl.

Sliding valve for glassdoor

Valve bracket for glass door

Air deflector for glass door

Glass

_Gasket for glass

iGasket, f/valve bracket

;Screw, panhead

:Nut

|{Gasket for glass

‘:Spring, f/glassdoor

M6x20 Din 84
M8x35

M8

M6x10

BBE

BP

BBE

BP

BBE

BP

@4,7x500
V-125 8x150
{M6x12 Din 7985
IM6

LD 360-@8, 7x850

Tegn.nr 3-2758-P0O0

Deleliste Jotul F 118

17.01.03

2av2




